WMiSC Series /Bt BB ZISEESE P=5mm

MSC are non-inductively wound with metallized Polyester as
dielectric/enectrode with copper-clad steel leads with epoxy
resin coating.They are suitable for blocking, filtering,by-pass,

coupling, decoupling and timing circuits with application in & },“"’ ‘ ’/‘
telecommunication, data processing, industrial instruments N 4 » T —— Tonany
and automatic control system equipments. y 4 '
Space-saving miniature size.
Non-inductive construction.
1 Self-healing property.
Flame-retardant plastic case and epoxy resin (compliance
with UL94V-0)
High-moisture resistance
FWH»'Q‘ e
1. OPERATING TEMPERATURE:-40°C ~+85C —
(From 85°C up to 106 Cwith derating voltage 1.25%/C, H+0.2
85°C E105°C Bi%1.25%/C Rk EEE) H}[
2. CAPACITANCE RANGE :.001~2.2nF y 5108
3. CAPACITANCE TOLERANCE :£5% (J), =10% (K), o
= 4. RATED VOLTAGE :50/63/100/250/400/630VDC L ,‘ J d©+005
= 5. DISSIPATION FACTOR :1.0% MAX AT 1 KHz,25C P£04
6. INSULATION RESISTANCE :>10000MQ (C<.331F);>3000MQ pnF (C>.33nF)
7.ENDURANCE :500hours with 125% of rated voltage at 85°C afterthetest AC/C<5%

/A (DF)=<0.20%; C 0.331 F;IR=4500MQ; C>0.331 F; IR*C=1500QF(20°C 1KHz)
Bl Unit:mm

= R. V.| 50/63VDC | 100VDC | 250VDC | 400VDC | 630VDC CASE W H T P105
= CAP . SIZE| CASECODE | CASE CODE | CASE CODE | CASE CODE | CASE CODE CODE | (MAX) | (MAX) | (MAX) -
= 001 A2 | A2 | A2 | A2 | A2 2; | ;: g-g ig gg |
= . 0015 | A2 | A2 | A2 | A2 | A2 T =y e I o 5
= 0022 A2 | A2 | A2 | A2 | A2 A4 | 75 10.0 6.0 50 |
= 0033 A2 | A2 | A2 | A2 | A2 A5 7.5 120 | 6.0 50
= 0047 A2 | A2 | A2 | A2 | A2 B4 | 10.0 12.0 6.0 7.5 |
—. 0068 | A2 | A2 | A2 | A2 | A3 o= | L L 128‘
= .01 A2 A2 A2 A3 A3 : : : §
= 015 A2 | A2 | A2 | A3 | A3 TAPING i — ——Cre

=" .022 A2 A2 A2 A3 A4 H m m

= — b o

= 033 A2 | A2 | A3 | A3 | A4 a1

= . 047 A2 | A2 A3 A4 A5/B4 s | . T
— 068 A2 | A2 | A3 | A4 A5/B4 ¢ITolTo fé 3
= A A2 | A2 A4 A5/B4 A5/B4 oios

= 15 A2 | A2 | A4 | A5/B4 A5/B4 4 702

= 22 A2 A2 | A5/B4 | A5/B4 B4/C3| [case

e Quantity REE[S AMMOPACK BULK
=1 .33 A2 | A2 | A5/B4 B4/C3 C3/D4

S A1 2000 1000
= 47 A3 A3 | A5/B4|B4/C3| D4 A2 1500 1000 |
— 68 A3 | A3 |A5B4IC3 B4/C3 A2 1000 T
— 1.00 A4 | A4 B4/C3| D4 e oan oo |
—— | 15 A5 | A5 C3/D4 D4 | B4 1000 1000 1000
= 2.2 A5/B4/C3|A5/B4/C3] D4 82 500 500 288 ‘





